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B M 62 4 53, 188 26, 719 26, 469
63 4E 54, 923 27, 629 27, 2914
F R T O£ 56, 358 28, 483 27, 875
2 4 58, 186 29, 528 28, 658
3 4 60, 153 30, 737 29, 416
4 4 54, 353 27, 826 26, 709
5 4 62, 746 32, 117 30, 629
6 4 63, 430 32, 490 30, 940

(PR 6 48 BERFIEEEE)

FBIREX 5Fa32=F1—kry— 3, 944 1, 983 1, 961
FHTAREE 2, 522 1, 286 1, 236
BEHII2=25F180 85— 1, 593 795 798
NEFrhzegs 2, 952 1, 458 1, 494
b /EERS 2, 565 1, 333 1, 232
JBE /NS 4, 342 2, 266 2, 076
BT A= L B 2, 958 1, 434 1, 524
LEE/NER 2, 360 1, 388 1, 472
LEEARE 2, 779 1, 448 1, 331
THE/NER 2, 052 1, 086 966
5B AEE 3, 374 1, 786 1, 588
SRR 2, 046 991 1, 055
FA-LhHER 983 478 505
PN % 3, 451 1, 749 1, 702
B AR 3, 543 1, 813 1, 730
K /NER 3, 229 1, 656 1, 573
B/NER 3, 063 1. 555 1, 508
SEERER 2, 712 1, 384 1, 328
SR 2, 208 1, 860 4, 068
HERRER 2, 347 1, 234 1, 113
S B ER 3, 714 1, 943 1, 771
taIa=Fr by — 2, 333 1, 216 1, 117
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2. EFFIRFLER

& T & W | % % 0 0 % K

ST B R N N A X
RERAREE

S61. 7.6 5 3 50,892 25,453 25,439

H 2. 218 10 3 57,023 28,839 28,184

H 5. 718 10 4 62,528 31,953 30,575
SHEREEE (LH)

S61. 7.6 50,892 25,453 25,439

H 1. 723 56,208 28,334 27,874

H 4. 7.26 61,204 31,227 29,977
SMERARE (1)

S61. 7.6 9 2 50,892 25,453 25,439

H 1. 723 12 2 56,208 28,334 27,874

H 3. 6.16 (%) 3 1 59,168 30,124 29,044

H 4. 726 10 * 3 61,204 31,227 29,977
BERERE

S63. 6.12 3 1 52,281 26,170 26,111

H 4. 6.21 5 1 08,513 29,707 28,806
HE R

S58. 4.10 2 1 48,760 24,463 24,297

S62. 4.26 2 1 50,372 25,211 25,161

H 3. 4. 7(853) 1 | . . .

H7 49 2 1 61,305 31,227 30,078
5

S58. 4.24 2 1 48,662 24,386 24,276

S 62. 4.26(H1E) I !

H 3. 4. TUEKE) 1 1

H 7 423 2 1 61,298 31,218 30,005
SRR RS

S58. 4.24 35 30 48,662 24,386 24,276

S62. 4.26 32 28 50,423 25,218 25,205

H 3. 4.21 29 28 57,177 29,016 28,161

H 7. 4.23 30 28 61,298 31,218 30,080

*SHBERERET (H) RHHIRERE, (1) IBEERRH% EhThET,
*SHEHRARE (R) OFH3 i AR 2. HK1) Th5,
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2. REFBFER (Hx)
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5 = E K # = %

% e % Es . 5 %
30,702 15,510 15,192 60.33% 60.94% 59.72%
37,862 19,017 18,845 66.40% 65.94% 66.86%
37,499 19,102 18,397 59.97% 59.78% 60.17%
30,691 15,504 15,187 60.31% 60.91% 59.70%
34,905 17,527 17,378 62.10% 61.86% 62.34%
23,998 12,500 11,448 39.21% 40.19% 38.19%
30,689 15,503 15,186 60.30% 60.91% 59.70%
34,908 17,531 17,377 62.11% 61.87% 62.34%
10,942 5,806 5,136 18.49% 19.27% 17.68%
23,998 12,549 11,449 39.21% 40.19% 38.19%
30,048 14,603 15,445 57.47% 55.80% 99.15%
20,156 10,146 10,010 34.45% 34.15% 34.75%
23,354 11,372 11,982 47.90% 46.49% 49.31%
22,880 11,249 11,631 45.42% 44 .62% 46.23%
26,902 12,774 14,128 43.88% 40.91% 46.97%
34,408 16,351 18,0567 70.711% 67.05% 74.38%
30,453 14,387 16,066 49.68% 46.09% 53.41%
34,418 16,360 18,058 70.73% 67.09% 74.39%
32,900 15,577 17,323 65.25% 61.77% 68.73%
31,729 14,810 16,919 55.49% 51.04% 60.08%
30,469 14,398 16,071 49.71% 46.12% 53.43%
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FET4E 1A 1 BB
# K % | % # %€ B A | B & % 5 B
WK ® A B O Z AAI3 0. 5. 1 RIS 4. 4. 30
2 R H 5 = R 34. 5. 1 38. 4. 30
H 5 = BB 38. 5. 1 42. 4. 30
H 5 = ¢ 42. 5.1 46. 4. 30
H 5 = R 46. 5. 1 50. 4. 30
H 5 = BB 50. 5. 1 54. 4. 30
H 5 = BR 54. 5. 1 58. 4. 30
3 £ # & % 98. 5. 1 62. 4. 30
H# I B 62. 5. 1 FEC 3. 4. 30
# R % FH 3. 5. 1
BE : ER
MBRHIB3E 7 B & ) T
4. B £ B &
FHRT4HE1H 1 BB
f K % | ®m £ £ A B | BE & A B
M £ = 1% bl G BEfi30. 6. 24 B3 4. 6. 23
2 £ Y] R & = 35. 4 2 39. 4 1
s1) R & = 39. 4 2 43. 4 1
e1/] R & = 43. 4. 2 47. 4. 1
43 R &€ = 47. 4. 2 00. 3. 8
3 N 3 AR ER 00. 7 1 °o4. 6. 30
4 £ 43 R & — °o4. 7. 12 98. 7. 11
%3 R & - 98. 7. 12 62. 7. 11
5 f # & # - 62. 7. 12 FE 3. 7. 11
R & — FHR 3. 7. 12
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PR T41H1 BRE

f £ % | ®m # # A A B £ A R
2 pal JH H - iE#$130.5.15 iB#134.5.14
ya) i =1 — 34.5.15 38.5.14
ra) i H - 38.5.15 42.5.14
a n = - 42.5.15 46.5.14
2 K 1] ¥ E 46.5.15 50.5.14
1] ¥: £ 50.5.15 54.5.14
(e # 5 B 54.5.16 58.2.23
e i3 H# 553 * 58.5.18 62.5.17
RE H# 2 * 62.5.18 Fp 1.7.1
5 ft | AW %k B B 172 5.7.1
Ao kB PR 5.7.2
TR BB
6. BTHH#EIER
TR T4 1A 1 BB
ft K % | ® # % A 0 B 4 B H
R H A K& & — Ff133.7.15 F#134.4.30
2 A wx ¥ & B 34.5.13 35.2.22
3 ft HF H fE & — B 35.3.12 36.6.23
4 £ Ak 14 " A 36.6.23 37.6.15
5 f | # B % — 37.6.15 38.4. 2
6 fX x K = £ E 38.5.13 42.4.30
T ¥ A = £t E 42.5.11 45.6.15
8 f ] H F x 45.6.15 46.4.30
9 1t B H F *x 46.5.13 47.6.14
104 N ¥: Gl AR 47.6.14 496. 7
111 . # E y 49.6. 7 50.4.30
124 = H #E K B 50.5.13 51.6. 7
131t Sl i3 ] ) 51.6. 7 54.4.30
laf | = B O® R 54.5.15 57.6.11
15 1% B kK B = K 57.6.11 58.4.30
16 1% B K B = K 58.5.17 60.6. 5
1Tf | B % — 60.6. 5 62.4.30
184t = B - B 62.5.14 TR 1.6. 7
191 A S A A Tk 1.6 .7 3.4.30
20 f% 578 & 3.5.15 56. 8
21K # 5k 5.6. 8
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7. BAMHBREER

f K % | wm# % B A | BE % A A
K| ¥ r B = F3AI133.7.15 F3R134.4.30
2 = H F *x 34.5.13 35.6.24
3 & Vil B B 35.6.24 36.6.23
4 ® K = £ E 36.6.23 37.6.15
6} 7 H E3 A 37.6.15 38.4.30
6 = H F * 38.5.13 39.6.11
7 /N x A BB 39.6.11 42.4.30
8 F 3 b33 i} 42.5.11 45.6.15
9 = H# #® K BB 45.6.15 46.4.30
10 E % B K B 46.5.13 47.6.14
11 pun i3 ] A 47.6.14 496. 7
12 AN E # I 496. 7 50.4.30
13 ® [ 3 (=1 i3 50.5.13 52.6.14
14 -5 B & A 52.6.14 54.4.30
15 & = & A 94.5.15 56.6.13
16 #* + 1) = 56.6.13 57.6.11
17 % & - 5 57.6.11 68.4.30
18 £ ey ® - 58.5.17 60.6. 5
19 H th 5 60.6 .5 62.4.30
20 N * & B 62.5.14 63.6.17
21 it ZS * 63.6.17 L 16. 7
22 .- 3 & i3 FE 1.6 .7 3.4.30
23 Hh F = i 3.5.15 5.6. 8
24 #H OH % = 5.6 .8
BH RAEHR
8. HANOHE
(B#H) — & 7 BB
3 £ r X
Fr 2 693 258 147
3 708 273 149
4 721 275 168
5 732 274 171
6 741 275 17
7 752 269 178
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